Height (m)

Height (m)

Height (m)

Height (m)

3000
2500
2000
1500
1000

MAGIC transect, JJA (1998-2007)

3000

B i o e e e e o e ==
came6 2500 cameé,halfdiss
E 2000 E
£ 1500
k=
2 1000
500 =
PENEN ESTETETE ETET 0....I....I....I...

155 150  -145  -140  -135  -130  -125 -120 155 150  -145  -140  -135  -130  -125 -120
Longitude Longitude
T T 3000 prrr =t T =

1a05b3alph 2500 1a05b3alph,halfdiss,

Height (m)

2000 -E
1500 &

1000

500

-140 -135 -130 -125 -120 -155  -150 -145 -140 -135 -130 -125
Longitude Longitude
AL T T 8000 P T T LTV
1a05b3alph,dettke, 2500 1a05b3alph,dettke,halfdiss
2000 -E

Height (m)

A BN
155 150  -145  -140  -135  -130  -125 -120 155 150 -145  -140  -135  -130  -125 -120
Longitude Longitude

T T T T T 3000 VBB ma T
1a05b3alph,dettke(LO=100m), 2500 SatObs(2013)

0
-155

-150 -145 -135

-1

20

.03 .06 .09 .12

Height (m)

15 .18 21 24"
CLOUD

Height (m)

Height (m)

Height (m)

Height (m)

3 .33 .36 .39 42 45 48

3000

e ey
2500 came,halfdiss,notrap
2000
1500
1000
500
0 e b o b
-155 -150 -145 -140 -135 -130 -125 -120
Longitude
3000 =y T e
2500 1a05b3alph,halfdiss,notrap,
2000
1500
1000
500
0 PN INTTENENE ETETSTET |
-155 -150 -145 -140 -135 -130 -125 -120
Longitude
3000 T} : : T
2500 1a05b3alph,dettke,halfdiss,notrap
2000 =
1500
1000
500
0 PP PR BRI -
-155 -150 -145 -140 -135 -130 -125 -120
Longitude
3000 pr=r T T
2500 ALIP )4
2000
1500
1000
500
P T T T P S B
-155 -150 -145 -140 -135 -130 -125 -120
ngitude



